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If him her them” s written as de ne ke’ and
'do him why' as ‘ne 1k ir' and ‘are they do' as
‘sh fu 1K', then ‘do’ is written as ‘

(A) ne 3} fu

(C) 1k (D) ir

Which one of the following is not 8 member
of Cabinet Mission ?

(A) Lord Patrick Lowrence

(B) Sir Stafford Crippn

(C) A. V. Alexandor

(D) Mount Batten

With respect to armed police, an Inspectorf
Sub-inspector commands g

(A) Section (B) Platoon

(C) Battalion (D) Company

From the given answer figurcs, select the
one in which the question figure is hidden/

embedded.
o

i

a) b)
Jik

(A) d (B) a
(C] b D) ¢

The HDI ranking of India a¥brding to 2020

UNDP HDI report is

{A) 136 (3) 130

(C) 131 (D) 182
Out of 6 boys and 4 girls, agra-upu}l'? is to be
formed. In how many ways can this be done
if the group is 1o have a majority of boys.

(A) 120 (B) 90

(C) 100 (D) 80

Whichof the followingis a certification
mark employed on agricultural
roducts in India by the directorate

p
of Marketing and Inspection ?
(A) AGRMARK (B) AGMARK

() AGPMARK (D} Neone of the above
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1, @f2 fum her them’ T ‘de ne ke’ s
<" ‘do him why'® e [k ir", ‘are they do' # 'sh
fulk' Crnam, @ do'® famam |
(A) ne (B) fu
() lk (D) ir
4 Ffirfern 1 & P e fama vz A R 7
(A) w7t Bfew =itn
(1) w @erd frg
(C) u, . vAFAE
(D) T3 Q24

3. v gfem & A, T fattas [IuFlas
s masmEmi -

(A) 3qumM (B) =

IC) (D) Tt

a. @3 snghed & 8, 98 s e fwd v

7 syt gh ¥/emfa R
:
o

(a) d (B) a
(C) b D) c
5. 2020 AN A aE. R § sFER Wi
/a‘.’rqaﬁ.mt!ﬁm%
(A) 136 (B) 130 %
(C) 131 (D) 182
6. ocugkinsaefmididsmmapame)
/mﬁﬁﬁmﬁﬁmmmﬂuﬁmﬁaﬁﬁﬂ
wEm AT #
(A) 120 B) 90
(C) 100 (D) 80
v/iﬂﬁﬁvﬂﬁﬂ:migr&mmmah
Ry REarer g it wrflew e ?
{A) AGRMARK (B) AGMARK
{C) AGPMARK (D) IR B A
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10.

11.

12.

13.

14.

18.

Consider the following stateme
PENCIL portal of Mingltry of Lnnl::u? m
Employment of Central Government,

1.1t Is an online platform that aims at
engaging the Central Government, State
Government, District, Civil Society and the
Public in eradicating child labour 1o achicve
the target of child labour free society.

2. This portal enables the citizens to raisc
a complaint and report incidents of
child labour through effective tracking
and monitoring mechanism,

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct
(C) Both the statements 1 and 2 are correct
(D) None of the above

A typical angiosperm embryo sac, at maturity,
though 8-nucleate is

(A) G-celled (B) 7-celled
(C) B-celled (D) 9-celled

The powers of the Panchayat are listed in
(A) 12* Schedule (B) 11™ Schedule
(C) 4* Schedule (D) 9™ Schedule

Name the State which succeeded in the efficient
implementation of milk co-operatives.

(A) Karnataka (B) Gujarat

(C) West Bengal (D) Maharastra

If you start your journey on 22" June 2003,
what will be the day of the week after 7 days J

of your departure ?

(A) Saturday (B) Monday

(C) Friday (D) Sunday
In which year did Napoleon Bonapatrown
himself as the Emperor of France ?

(A} 1799 (B) 1802

(C) 1815 (D) 1804

United Nations High Commissioner for
Refugees (UNHCR) headquarters at

{C) Rome, [taly
1 1 1 3
- —_x -— -F?
334-5 135+55
1
(A) 213 (B) 18‘2'
(C) 19= (D) None of these
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e (C) 8-wifiTe aTen (D) 9-fira e
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NCER D) 9 = g
Tl  Frat=aa i Farm T 3 G BT
- #, T |
(B) T
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12 ST M 22 SF 2003 F I TH GE FE 8, @

& m@twﬁ?ﬁﬂtmmm#-m
() wFaT (B) whER 93€
(C) THER oy daan -

13, Jfe iR 3 Ren ol @ # wW T EER
wife f 7
(A) 1799 (B) 1802
(C) 1815 (D) 1804

14 vl ¥ R wEw U I (,9.79.6. 3K )

AT el 7
) o, et (B) Reeh, v
(C) T, y=it (D) oitea & & o

1 1 1 .3

16. 85+5:u13§+6§=?
(B) m% m
1 1
© 193 m\ﬂﬂﬁﬁm‘.
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16.

17.

18.

al.

A projectile can have the same range R for two
angles of projection. Ift, and t, be the ime of
flights in the two cases, then the product of
the two time of flights is proportional to

T B) R
1

R
IC) K’ D) —
) =
The extended observaton eof the social
perspective and cultural values of an entire

socinl aetting is termed ns
(A] Interpretive (B) Ethnography
(C) Phenomenology (D) Narrative

In a row of girls, Rita and Monika occupy
the ninth place from the right end and tenth
place from the left end, respeclively. If they
interchange their plocen, Rita and Monika
occupy seventeenth ploce from the right and
eighteenth place from the left, respectively.

How many girls are there in the row ?

{A) 25 {B) 26

{C) 27 (D) Data inadequate

A 7 T ’ -

5T i
-5

£ ~ cul

How many o tic suuses: vuues 1ave exaclly
B) 16

three colored foces ?
e

(A) 8
{C) 14
What are the pans of each single Carpel ?
{A) Stigma, Pedicel

(B) Stigmn, Petal, Tepal

(C) Stigma, Style and Ovary

(D) Stigma, Style

MICR stands for

(A} Mechanical Ink Character Reader
(B) Mechanical Ink Code Reader

(C) Magnetic Ink Character Reader

(D) Magnetic Ink Code Reader

To which country did Herodotus belong ?
{A) Irish (B) Germany
(C) England (D) Greek
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23. A car travels a distance of 75 km at
the speed of 25 km/hr. It covers the next
25 km of its journey at the speed of 5 kan/hr
and the last 50 km of its journcy oy the
of 25 km/hr. Whot is the average
the car ?
(A} 40 km /hr (B) 25 km/hr
(€) 15 km/hr (D) 12,5 km/hr
24. Which of the following is not an expansion card 7

(A) Complementary metal-oxide
semiconductor (CMOS)

[B) Personal Computer (PU) card
{C) Modem
“SYD) Video card

speed
apeced of

28. Sheet crosion takes place on which type
of lands after a heavy shower and the ;aoil
removal is not easily noticeable, but it is
harmful since it removes the finer and more
fertile top sail ?

(A) Hilly lands (B) Coustal land
{C) Level lands (D) All of the above

26. Creation of new individuals in unicellular
organisms is by
(A) Fission (B) Fusion
(C) Sexual reproduction (D) Phylogamy
27. Select the correct mirror image of the given
figure when the mirror is placed at line AB.
A

12w1adgoan

B T
1A) ROOIPAMZI (B) BOOghAWCI
(C) 13MEQEQDS (D) BOOgbIAWLI

28. The first railway steamed off in India from
Mumbai to Thane in 1853 covering a total

X

distance of
(A) 34 kms (B) 75 kms
(C) 78 kms (D) 53 kms
29. Identify the missing numbers.
9 11 13
13 15 17
10 12 14
L 1 z
] 3 ?
(A} 22,20 (B) 14,18
(C) 12,13 (D) 18, 15

L

[/
e ".!;
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A
12w|::dg008E
B
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If 30 persons consume 240 kg of rice
in 15 days, in how many days will
30 persons consume 48 kg of rice ?

1A) 6-]- davs
4

(C) 4 days

3
By 3= days

B}
(D) 9 days
As per Reserve Bank of India (RBI), Account
Agerepator 1s a
(A) Non-banking linancial company @5 0
(B} Banking inancial company %‘tﬁ

C] Insurance company

(D) Credit borrower company

Most important ecologically relevant
environmental factor is

(A) Temperature
(C) Water

(B) Light
(D) Soil

In pre-independent India who was the first
to discuss the concept of a poverty line ?
(A) Dadabhai Naoroji

(B} Gopalakrishna Gokale

1C) Vinobha Bhave

ID] Vinoda Bai

. -
- 1% a special soltware that e:@ca
users to read/view web pages ag@)jump
from one web page to another,

(A) Web server (B) W@:’rﬁwacr
(D) _\\Q page

(C) Web site

The sum of the first 20 2rms of the series
549+ 13417+, is
(A) BOO

(C) B6O

(B3) 850
(D) 870

A man walks from his house towards north
and covers 15.5 km and then turns left and

travels 7 km. He then tums left again and

after travelling 31 ke again turns left and
stops alter travelling 7 km. How

: far is he
from his house

{A) 46.5 km (B) 15.5 km

(C) 8.5 km (D) 60.5 km

Aschelminthes is circular in cros
hence, the name
(A) Roundworms
(C) Pinworms

s-sectlion,

(B) Flatworms
(D) Platewormg

-

30, af2 a0 @fd 15 ot i 240 AN T@@ my g
7 ao=ifi 48 fa e R el 8 i

3

(A) ﬁ_l_ﬂq B) 3—f&
4 3
(©) 4 fm (D) ofa

31. /frod & i gz (S AL ATE) & Sqem v
/ot R
/) S Fefm e
(B) &fdn fadia @5
(C) =
(D} T IuTCHAT FHI

32. X = | Al TEE w2 T,
o/ ww
(A) TTYEH (B) W&
(C) == (D) 7=
33. TEEAGI-Yd WA § T a6 = s ey

-a\%m?

(A) ErETaTd
(B) e v
(C) fadrar via
(D) fara amé
34. /  VEfrimwmm S s
53R/ 2 4 & i o e g @ g b
(A) & welt yB) 3T
(C) 3 gz (D) =%
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(A) BOO
(C) 860

(B) 850

(D) 870

36. TR FF I WA wern g www bR A
s 15,5 Bl A gt vy e 8, f A
TR 7 ffi Tem § 1w fw and g @
31mm%mﬁqmmgm7ﬁﬂ?ﬂ

%mﬁﬁ%ﬁl?ﬂﬂﬂ%mﬁﬁzmgt?
(A) 46.5 farhy (B) 15.5 &
(C) 8.5 fa=fi (D) 60.5 ftf
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38. Two poinl charges exert on each other a fo
F, when they are placed r distance ﬂpurtni:::
air. When they are placed R distance apart
in medium of dielectric constunt K, they
excert the same force. The distance R equals

(A) . |
JK ' =
(C) rK D) rvk

39. The tectonic plate ‘Nazca'is situated between
(A) Central America and Pacific Plate
(B) South America and Pacific Plate
{C) Asiatic and Pacific Plate

(D) North American and South American Plate

The traffic lights at three different
road crossings change after 24 seconds,
36 seconds and 54 seconds respectively.
If they all change simultaneously at
10:15:00 AM, then at what time will they
again change simultaneously ?

(A) 10:17:02 AM (B) 10:18:36 AM
(C) 10:16:59 AM (D) 10:22:12 AM

Choose the right answer, based on the
relationship given in the question.

Clasp : Bracelet

(A) Wrist : Watch (B) Cuff : Trousecrs
(C) Hook : Coat (D) Buckle : Belt Y
According to Comte the traditionnl
method of Sociology is
(A) Positivism

(C) Imperialism

41.

42,

(B) Antipositigdm
(D) Relativism

Consider the following statements about
United Nations General Assembly (UNGA).
1. The United Nations General Assembly
(UNGA) is the main policy making organ
of the Organization.
2. Each of the 193 member States of the
United Nations has an equal vote.
(A) The statement 1 is correct
(B) The statement 2 is correct
(C) Both the statements 1 and 2 arc correct
(D) None of the above

%4. The profit earned after selling an article for
Rs. 1,754 is the same as loss 'mr.‘unﬂi’aﬁﬂ
selling the article for Rs. 1,492. What is the

cost price of the article ?
(A) Rs, 1,589 (B) Rs. 1,523
(C) Rs. 1,689 (D) Rs. 1,623

T
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382 firg snim v g et § (@A ¢
¥ m@ e § | i 3 qufage Faais K % mmem
# R g v ven s @, @ o 3 oue v e § g

?ﬁg R arat @
(A) Tr—- |
K K
(©) rK D) K
39, faadfas < s s femt)
(A) T e af weia <2
(B) m arifa afv vy @2
(C) ofivar ¥ e <

(D) 378 i) i afim anifed 2

40. R swEm-sten de witm w fem e
24 B33, 36 ¥He ol 54 W wwE T B | AR A
wfl TF ¥19 10:15:00 AM W wewa § & 276 @1

o w3 & e vz ?
(A) 10:]60! AM (B) 10:18:36 AM
(C). 54 AM (D) 10:22:12 AM

43" TN i it % am o g |
TR : JRIe

8y Forz : a9 (B) F% : g
(C) &% : ¥R (D) % : ¥
42, ﬁﬁﬂm?nmﬂmuﬁ
S |
(A) FFTHFAER (B) SiaamaEr
(C) HET=ER (D) WEa=

43, YT UL HEE (3.3.90.0.) F R § Bafiiea
o et :k ;

1. ® HETEW (gt ) @
mﬁu:fmaht:ﬂ T.) ¥939 = g

2. §YW UL ¥ 193 v 2 ¥ & vl o ug
C e 8

(A) ¥UA ) wft @
(B) 5 2 w8 §
(C) F 1 3l 2 A we) §
(P) IR § & 2
44, T TR ¥ 1,754 F 93 & ar oy
/ TGRS, l.miﬁﬁmmmtm;::
NMETPAF R 7 '
Iﬁl ¥, 1.539 iB‘l %, 1'523
(€ 8. 1,689 D) . 1,623
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| Two trains 108 m and 112 m in length are | /48, 108‘“113%(;&! ;45%!3%54%}
s nning towards each other on the parallel | { 9 G Za FT e & are UF 2@ F qn
{i?lcsnlaap&dnf45km!hrnnd54km hr g2 #) e & 9E @ E ) -
respectively. To croas each other after t 1y ﬁﬁﬁ, I AT .
meet, it will take (A) 10 #FT (B) 12 &%
{A) 10 see (D) 12 see (C) 9 A5z (D) 8 ¥FE
(C) 9 sec £ 8 ner 2 & ) ?
46. Which number will come in the ?/m&‘@*m“"ﬂ"'"‘ﬂm '
place of question mark ? ) 13,19, 18, 3 %)
5,7, 11,13, 17, 19, ? (AT23 (B) 25 ow
(4) 23 (B) 25 . D) 31 -
(€) 29 (D) 31 t3.89 . :‘/{% |
47. The first Secretary General of UNO 7. ‘LQ"--'H"-.% wam WgTafeE A Q 7 E—; '
(A) U Thant (B) Trygve Lie (A) q 4t 4By fym e
(C} Dag Hammarskjold (D) None of the above e Yptes (D) 3% & & FY§ 7
. 48. In the question, wo statements are given [ 48, WYR A, 3 wuq Rum # ﬁ"% g2 2 Frapd fa me
I followed by twe conclusions. Choose the ¥ 1 3 fred gfie s o & @ waam BEaRE)
J conclusion(s) which best fit(s) logically. WY
Statements : nahk LE) )
= 1) Al K are L )L, MmE ,_,:\Q
2) Al Lare M ey - ( (VW
°‘|’“‘:1;‘K"?“ ’ L@ K, M | e
Al KM ‘g K, L8| N
II. Some K are not L b 2 8 /
(A) Only conclusion II follows . Fremd 11 HIET T '
(B} Only conclusion I follows (B) %aw fawd | A Fa § -
(C) Neither conclusion I nor II follows (©) 38 fepf 13 i 1y IR FAE
(D] Both conclusions 1 and II follows (D) ﬁﬂﬁ'ﬁ'ﬂf 13k n e @ § N
49. European Union Naval Foree is _ 49, qirfta v i #
(A] NAVFOR (B) EURATOM (A) ALdigs.stam. (g $£3ame a5,
(C) NUTOM (D) NUKASEN (C) W.4A.3hw, (D) W% 9.0m.qq.
80. ?‘a;jo?ngjic studies Conaitier "Emup l:lr ;sg/l’ammm AT e WA T s
Individual organisms wit ndamen
similarities as a ﬁ#wmﬁﬂmmﬁg?
(A] Taxa (B) Species (A) &Fm (B) sranfarat
(C) Specimen (D) Twin (C) wgm (D) Ygai
§1. PCMCIA stands for yﬁ.mmmm.q. W1 Haera '
(A} Personal Computer Memory Card ) ) ﬁ
Internction Academy (A) e PR A ol b o The e
(B) Personal Computer Memory Cable y .
o }::cmﬁmal i (B) 981 gy Aeivft ey WA gEifagm
rsonal Computer M 5 .
International :aag:iatfnmnw e (C) e xRt s R wifor

{D) None of thege

(D) ¥ ¥ ré 3t
83. Bay of Bengal Initiative for Multi-Sectora] ? 9% Fm wifinRe Vv AR
Technical and Economje Co-ope 7/ T w‘h‘ft o
(BIMSTEC) was establighe in i ﬂ._. ¥ wnfy et S
(A) 2000 (B) 1997 (A) 2000 e B) 1997
(C) 2010 (D) 2001 (€) 2010 (D) 2001
13 -8-
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The approach in sociology is actually an
attempt to comprehend social phenomenon
in terms of its connection o the system as a
whole is the

(A) System approach

f8) Functional approach

IC}‘Iumanislic approach

(D) Psychosocial approach

Six persons playing a game sitting in a
circle facing the centre. Vijay was to the left
to Sudhir. Amar was between Rakesh and
Saurav. Neerav was second to the left of
Amar, Who is second to the right of Vijay ?
(A} Amar {B) Rakesh

(C) Saurav (D) Neerav

Cyclical changes during reproduction in
sheep arc called

(A) Oestrus cycle (B) Menstrual cycle
(C) Sexual cycle (D) Asexual cycle
The standard rules of a polite Internet
behaviour are called

(A) Search engines

(B) Domain

(C) Netiquette

(D) Post Office Protocol (POP)

Which of the following denominationX 8
bank notes issued by Reserve Bank g@¥ndia
was withdrawn from legal tender gpfacter ?
(A) Rs. 50 and Rs. 100

(B) Rs. 100 and Rs. 20

(C) Rs. 500 and Rs. 1000

(D) None of the above

As per Criminal Procedure Code,
1973 Section 2(x), a warrant casc
is one that is related to an offensc
whose punishment can be a death

! wwvaTE # 39 a8 amfas gfgea @ e

9 1 yorreht & R HEU & g2 1§ auge |
R b .
(A) woTrefl 3urm
(B) @&raters 3qnm™
(C) wramad 39T
D) grEmTiaE I9my
54 #27H si @ w0 v g7 A 43 U AR
o O e @ @ | P v o A @)
W vy of da & e d w ) @
swF A w | s
zwul?
(&) 3 B) TE g
(C) dra (D) Hr m
§5. YoAysRdmatmaad s
(A) T (B) wfeud o
(€ Apew (D) ¥ T
86 & . o2 SEER F ARG AW
I
" \{A) wd WA
(B) ¥
(C) ¥
(D) e ¥ffrw wdEta (H.and.)

7 st fead g o feg ome B R 9 @
Preforfas # @ 9 @ grgad & T © s dum
araa e ?

(A) 50 ¥ 3t 100 *9%
(B) 100 ¥ 3f 20 ¥4
(C) 500 ¥ 3K 1000 92
(D) I A {7 T

amnivw 38 wiF d@fem, 1973 ) ym 2 &
AR, AR AN T8 A & < B s A
guftrs @ ® R wn A, sftEs FoEm @

b

sentence, life imprisonment Or 94 # ftw A i F fow s @
imprisonment for a term exceeding gﬁ e

—— . Year (A) 10 B) 2

og Y o =E

—__is known as ‘wood spirit’. ‘y R ol R F s damame

(A) CH,OH (8) C,H,OH  NGRON (B) C,;H,0H

(€) CH,0H (D) CH,(CH,),CH,OH Ky (D) CH,(CH),CH,OH
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60, The denominator of a rational number is
3 more than its numerator. If the ngmerator
is increased by 7 and the denominator is
decreased by 2, we obtain 2. The rational

number is
1 5
(A) 2 (B) B
7 a
(€) T D) 3

61. What is viability of seeds ?
(A) Presence of temperature
(B) Excretion in seeds
(C) Respiration of seeds
(D) Presence of life in seeda

62. Under the Criminal Procedure Code, 1973,
the can pass any order to prevent
any miscarriage of justice or abuse of the
process in the Indian courts.

(A) District Court (B) Civil Court

(C) High Court (D) Supreme Court
63. How many cuts are required to cut a cube

into 512 pieces ?

{a) 511

(B) 70

iC) 21

(D) Cannot be determined

Directions (Q. No. 64-66) : Study en
informaticn carefully and answer estions
that follow :
I. Six friends P, Q, R, S, T and U are members of
a club and play a different game of Football,
Cricket, Tennis, Basketball, Badminton and
Volleyball.
M. T who is taller than P and S plays Tennis.
[l The tallest among them plays Basketball.
IV. The shortest among them plays Volleyball
V. Q and 8 neither play Volleyball nor Basketball,
VLR plqyg Vu]]eybau_
VIL. T is between Q who plays Football and P in

mﬂd’height.
€4. Whoamong them is taller than R but shorter
thanP?
v (D) None of these
13 .10-
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i D) —

g)/a‘}aihﬁmﬁmtaﬂﬂM)W“
(A) T it Jufefa
(B) W 3 It
(C) <l it gw
(D) sisfl i sftam & Fufefa
6a. oe wism &, 1973 % wed,
vl s # = & Rt ot miva o ofen
% gwam @ e & R Wi ofe =

v |
(a) foren w¥ B) fafm =y
.G\ T=9 TR (D) Fefim Fé
63 % R 512 g i ek &5 forg Pt e o

}m!?

(A) 511
(B) 70
© 21

(D) Frafia 7 fn = wem

Rin @. €. 64-66) : TN 9 mf ge B @R A R
e I AR |

1L.8:faP Q,R, S, T U w7 & aew § v

g g

nTHRrasmsAaae, Radeam e

M, 398 & oo S grekzata daa )

Iv. 398 A o B el daa 8 1

V. Qs yd afcieta s awrzata @ € |

VI. R afclate demd )
VIL. T, Q < gzelter Gern B 3l P ¥ oy & 3 seem 8 1

64, VHANR-mRATH M PpROTE?
(A Q (B) T
©vu (D) & & =

’,/qmuﬂhmmumﬁ"ﬂ3mt| af
/
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71.

Which of the following statements is not true 7
(A) Pisshorter than R (B) Q is taller than S
(C) Sistallerthan R (D) Tis tuller than R

Whowill be at the third place if they are arranged
in the descending order of their height ?

(A) Q (B) P

(C) S D) T

is used as froth stabiliser in froth
floatation method.

|A) Pine oil (B) Fatty acid

{C) Xanthate (D) Cresol

controller is the interface that
enables the computer to read and write
information to the hard drive,
(A) PC card
{B) Floppy disk
{C) Hard disk
(D) Direct memory access
When the species - area relationships
among very large area like entire continents
is analised, then slope of line becomes
(A) Less stecper (B} Vertical
(C) Parabola (D) Much steeper
Recommendations regarding Police Reforms
was given by the Committee .
(A) Justice G, Rohini Committee
(B) Justice M. Rajeev Committee
(C) Justice Malimath Committee
(D) Justice G. Raghavendra Com@ﬁ&

Who among the Haryana policemen was the
recent recipient of police medal for gallantry ?
(A} Pawan Kumar, Constable

(B} Mahavir Singh, Constable

(C) Sabal Singh, Constable

(D) Minter Singh, Constable

What is the angle between the hour hand

CMES - 82

65, frefafmai as-mamag TR ?

67

?

(A) P, RETI B B) Q, sA=a.
C) S, RAEWR D) T,RAT@
. TR T S % e g o g A w5
#rat wum g smen 7 -
(A) Q @) P ‘o
) s o) T -
v e faf # wm e %
AT
(A) e F A (B) F@1 A
(C) St (D) e
i T8 FTUEAS § LG T R
A W e siigg A asmwan # )
(A) d.40, wrd
(B) v faem
(C) oid
(D) Tt A vedE

69,

Fd

w9 w78 & 4wl wendta & wanfe -8 e W
g am e, AgemHNEd ______ &
e f

?)Wﬁnm (B) =R
C) TEw (D) ¥firs A

e ygmEEhaghat  affrgodm
(A) dim <ft, afeh wfifa

(B) e . Tefta wfif
(C) s wftyam whirfa
(D) s <fi. wedig witfa

71,/ B & fra gl 9 gm @ 3 e F R

and the minute hand of a clock when the
clock shows 7:24 a.m. ?
(A) 66° (B) 84°
(C) 78° (D) 76°
Who was popularly called as The Father of 73
Humanism ?
(A) Petrarch (B) Martin Luther
(C) Sir Thomas Roe (D) Leonardo Bruni
Illl

ftra gaw wra gan & 7
(A) T FUR, FRE
(B) wern e, wdwa
(C) v fim, i Rwm
fir fie, vieww
72,/ 9@ TH WG ¥ 7:24 ¥@: T4 §, o fe ol wreh
g fasvwem?
(A) 66° (B) 84°
(C) 78° (D) 76°
LR R R R T .
T 1 ? '
|A) gk (B) =3
(C) T ahm D D) et i
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74. Monetisation of the government's fiscal deficit

?"I‘qﬁrﬁmﬁmémg;ﬁmmmm

may give rise to unproductive spending and L e By
may lead to _ (A) garefife T (B) 3@
{A) No inflation (B) Very low inflation Feaa qEehify
(C) Higher inflation (D) None of these ; € () !ﬁ g Eﬂ -
8. ____. method for displaying colour | 757 i aefid st enfr & _  fafy smwr=.:
ictures is co 1 «d I d
‘%mudiapmyt:::n y ::L h;u 1 random m;&n feoat %m!:g;rgmt I
Beam pen n (B) 8 ki E
(C) Retracing (D) Refreshing (C) fegfém R
76. Which of the following is the crop 76, Frfeftan § @ #-# gheon f waa Afadem
diversification scheme of Haryana ? a7
(A) Mera Pani, Meri Dharthi (A) Fu T, it vt
(B) Mera Pani, Meri Virasat (B) a0 wrHl, %6 fammea
{C) Mecra Fasal, Meri Virasat (C) % s, af faaa
(D) None of the above ©f 37w & @ w1 T
77. The practice of making a transmission | 77, w1 wdta @ @ ToRO F@ B von feed) Ffuga
appears to come from an authorized user IFdTEl 1 R A
(A) Hacking (B) Spoofing (A) RFFn (B) T
(C) Spamming (D) Spamdexing (Cy wfim (D) AmRfRm
78. If @ means », "
@ means +, th:g :l;::‘ifili Ecmt;acn:a;{u:nj }ﬂ/ FAER o, B oand -, Y ¥ 3 x 3k
30010y 5a10820 7 @13y +, ﬁraoalo-fsamazowmws\m?
(A) 3 (B) 10 ") 3 (B) 10 &
(C) 5 (D) 15 , €5 (D) 15 7{?’
79. The formula of production function is ‘ ‘?,/ I mw-{,g 50 30"5_’1,1),
() q =1L, K) (B) q = dip) 25T
\ P A q=1(L, K) (B) q = d{p) i
)y = 1fix) (D) None of tin C)ye <
8. Whois the current Governor of Raf§¥than ? -mi . ﬂmxl T adendol B
(A) Kalraj Mishra (B) Ram Naik o "( Wt wHE?
(C) Mﬂr@m Alva (D) None of the above :2' R R (B) W s
81, ~—_ allows user to send a file with e¢-mai| ; By = ﬁﬂﬂqﬂ
(A Draft o - N, L RS E T PR —
(C (B} Messenger A WA R W g
) Sent (D) Attachments A e (8) &
(C) ¥ D) itz

83. Vice Chancellor of Chaudha ;
ry Charan Sin
Haryana Agricultural University (c CSHAUB,h 92/ et wm far T sfme

(A) Prof. Dr. Bharath CIRACRERE BER =0 cE ST
(B) Prof. Dr. R. D. Karjol (A) W T, Wi
(C) Prof. Dr. B. R. Kamboj M (B) WH 5. 3m. A, T
(D) Prof. Dr. G. T. Gopa lgl’ m g 3 ;‘Kﬁ?ﬂ
83. Who becomes one of the youngest gold m edal ) L 2.2
winners in Olympic 2021 ? 83 91 aitwifw 2021 ¥ e W 90 ¥ v g2m vk
(C) Tek Chand (D) Momiji Nishiyg [‘g; mﬁ" W ({g; *g;m
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B4.

87.

Consider the following statements about
Socialism.

1. Socialism refers to a set of Political
ideas that emerged as a response to the
inequalities present in, and reproduced
by, the industrial capitalist econorny.

2. The main concern of Socinlism is how
to minimise existing inequality and
distribute resources justly,

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct

(D) None of the above

If with the 3%, 4, 5%, 7 and 10" letters of
the word ‘PERSONALITY’ a meaningful word
is formed, then first letter of the word is

(A) O BT
(C) S (D) R
The term is commonly referred to the

state of being connected to the networked
computer system or Internet.

(A) Upload (B) Online
(C) OMline (D) Browser
Nagaland : Kohima : : Manipur: ?
(A) Imphal (B) Shimla
(C) Gangtok (D) Guwahati

Secondary memory is also called as

(A) Primary memory (B) Main rn:;mgw-
(C) External memory (D) Virtual ory

Consider the following statemems about

tertiary sector of Indian economy. i
1. These are the activities that help in

the development of the primary and

secondary sectors.

These activities, by themselves, do not

produce a good but they are an aid or a

support for the production process.

(A) The statement 1 is correct

(B) The statement 2 is correct

(C) Both the statements 1 and 2 are correct

(D) Both the statements 1 and 2 are

incorrect

In a box the numbers of one rupee, half rupee
and quarter rupee are in the ratio 3 : 4 : 5 and
the total value of the coins is Rs. 100. Find the
number of each kind of coins respectively.
(A) 48, 64, BO (B) 48, 60, 70
(C) 55, 78, 90 (D) 44, 68, 80
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(A) §ErT (B) firen
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(A) Sesd (B) &7 Al
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weAl o REm R )
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1.

R Ta ey
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(B) e
(D) AR
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English Language

91. Complete the sentence using .:Eppropri.ntc
tense form from the alternatives given

below it.
Nine years have passed sincc‘hia aunt
(A) Had dicd (B) D!cd
(C) Have died (D) Die
92. Find out the misspelt word in the following.
(A) Heritage (B) Ecstasy
(C) Glimpse (D) Dilacdption

93. Out of the four alternatives suggested,
select the one which best expresses the
same sentence in Indirect/Direct speech.

Kamal asked me “Did you see the
football match on TV last night”,

(A) Kamal asked me whether | saw the
football match on TV the earlier night

(B) Kamal asked me whether I had seen the
football match on TV the earlier night

(C) Kamal asked me did | see the football
match on TV last night

(D) Kamal asked me whether had seen the
football match on TV last night

94. Below are given idioms each followed by

four alternative meanings, marked (A), (B),
(C) and (D). Mark the one which you thinp~
is the most appropriate.
Knit one's brows

(A) To disappoint somebody

(B) To express contentment

(€C) To frown

(D) To have a headache

In the following question a sentence has
given in Direct/Indirect speech. Out
of the four given alternatives select the one
whn,:h best expresses the same sentence in
Indirect / Direct Speech.
He said to me, "Please wa; i
el wait for me here till 1
(A) He requested to me Lo wait for him
there till he returned,

[@j II;!: ro;;d;l::ld fne 1o wait for me there till

(C) He requested me to wait for him there
till he returned.

‘[& He told me to wait for him here till he
returns.

98.
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(A) Fodam
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97! gmwmwEdad R
(A) BT
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(D) % & i et
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